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It'f" denotes the ratio of the number of nuclei decayed (N ;) to the number of nuclei at t=(
(N;) then for a collection of radioactive nuclei, the rate of change of ’f" with respect to time is
givenas .

[\ is the radioactive decay constant]
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In Young's double slit experiment, if the source of light changes from orange to blue then :
Options :

: the intensity of the minima will increase.

, the distance between consecutive fringes will increase.

2 the distance between consecutive fringes will decrease.

the central bright fringe will become a dark fringe.
4.
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The relative permittivity of distilled water is 81. The velocity of light in it will be :
(Given p, =1)

Options:

1 3.33%107 m/s

1
, 4.33x107 m/s

107
3 0:33x10” m/s

107
4 2.33x10° m/s
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3.33 %107 m/s
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, 433%10" m/s
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3 0:33x10” m/s

, 2.33x107 m/s
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T C=14F

A capacitor of capacitance C=1 pF is suddenly connected to a battery of 100 volt through a
resistance R=100 1. The time taken for the capacitor to be charged to get 50 Vis :

[Toke In 2=069]

Options :

;. 0.69x107%s



, 0.30x10™%s
3 1.44x10 4 s

4 3.33%x10 %5
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A 007 H inductor and a 12 () resistor are connected in series to a 220 V, 50 Hz ac source.

The approximate current in the circuit and the phase angle between current and source

voltage are respectively. [Take 7 as ?]
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88 A and tarf%%}
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A light cylindrical vessel is kept on a horizontal surface. Area of base is A. A hole of cross-
sectional area ‘a’ is made just at its bottom side. The minimum coefficient of friction necessary

to prevent sliding the vessel due to the impact force of the emerging liquid is (a << A) :

Options :
d

1. A
2a

2. A



4. None of these
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In the given figure, a battery of emf E is connected across a conductor PQ of length ' and

different area of cross-sections having radii r, and 1, (r, <,).

=
"

A
\

E K

—

Choose the correct option as one moves from P to Q :

Options :

: Drift velocity of electron increases.

> Electron current decreases.
3 Electric field decreases.

4 All of these
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Two capacitors of capacities 2C and C are joined in parallel and charged up to potential V.
The battery is removed and the capacitor of capacity C is filled completely with a medium of
dielectric constant K. The potential difference across the capacitors will now be :

Options :
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In the reported figure, a capacitor is formed by placing a compound dielectric between the
plates of parallel plate capacitor. The expression for the capacity of the said capacitor will

be : (Given area of plate=A)

GG G

K| 3K XK
d- «2d-3d-
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A particle starts executing simple harmonic motion (SHM) of amplitude ‘a” and total energy

: B . 9B EE
E. Atany instant, its kinetic energy is o) then its displacement ‘i is given by :
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Two identical tennis balls each having mass ‘m’ and charge ‘q" are suspended from a fixed

point by threads of length ‘T'. What is the equilibrium separation when each thread makes a
small angle ‘0" with the vertical ?
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In the reported figure, there is a cyclic process ABCDA on a sample of 1 mol of a diatomic
gas. The temperature of the gas during the process A — Band C - D are T; and T,
(T, > T,) respectively.

P

4

5P, -+

e

...................................

0"V, 15V, 35V, 55V, V

Choose the correct option out of the following for work done if processes BC and DA are
adiabatic.

Options :

. Wee+Wpa >0

, Was<Wep

3 Was=Wnpc
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. WpctWpa >0
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A body takes 4 min. to cool from 61°C to 59°C. If the temperature of the surroundings is
30°C, the time taken by the body to cool from 51°C to 49°Cis :

Options :
1. 3 min.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The number of molecules in one litre of an ideal gas at 300 K and 2 atmospheric pressure

with mean kinetic energy 2107 | per molecule is :
Options :

. DB X10H

, 1.5% 10

3 33104

4 16310%
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Assertion A:  If A, B, C, D are four points on a semi-circular arc with centre at ‘0" such

—

that |AB| = ‘BC| = ‘CD , then

—_— — - - —3 —

AB + AC + AD = 4A0 + 0B + OC

Reason R:  Polygon law of vector addition yields

—_ = - - —

AB +BC + CD = AD =2A0

B C

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :
Both A and R are correct and R is the correct explanation of A.

5 Both A and R are correct but R is not the correct explanation of A.

3. A is correct but R is not correct.

4. A is not correct but R is correct.
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Correct Marks : 4 Wrong Marks : 1
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The figure shows two solid discs with radius R and r respectively. [f mass per unit area is
same for both, what is the ratio of MI of bigger disc around axis AB (which is L to the plane
of the disc and passing through its centre) to MI of smaller disc around one of its diameters

lying on its plane ? Given M is the mass of the larger disc. (MI stands for moment of inertia)

A

Options :
| 2RZ o

5 R2 : 12

3 OR% . 14

4 215 R%
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List- 1 List - II

(a) MIof the rod (length L, Mass M, about an axis L to therod (i) 8 ML%/3
passing through the midpoint)

(b) MIof the rod (length L, Mass 2M, about an axis L to the rod (i) ML2/3
passing through one of its end)

(©)  MIof the rod (length 2L, Mass M, about an axis L to the rod (i) ML%/12
passing through its midpoint)

(d) MIof the rod (length 2L, Mass 2M, about an axis L to the rod (iv) 2 ML?/3
passing through one of its end)

Choose the correct answer from the options given below :

Options :

;. (@)=(iii), (b)-(iv), (c)-(1), (d)-(ii)
,, @)-(iii), (b)-(iv), ()-(i1), (d)-(1)
5. (@)-(), (b)-(1), (0)-(iii), (d)-(iv)

5 (@)-(ii), (b)-(iii), (c)-(1), (d)-(iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Three objects A, Band C are kept in a straight line on a frictionless horizontal surface, The
masses of A, Band Care m, 2mand 2 m respectively. A moves towards B witha speed of
9m/s and makes an elastic collision withit. Thereafter B makes a completely inelastic collision

with C. All motions occur along same straight line, The final speed of Cis :

A B C
m| [2m| [2m

Options :

, 6m/s

, 3m/s
; 4m/s

. dm/s

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Aball is thrown up with a certain velocity so that it reaches a height ', Find the ratio of the

h
two different times of the ball reaching 5 in both the directions.
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Assertion A:  If in five complete rotations of the circular scale, the distance travelled on
main scale of the screw gauge is 5 mm and there are 50 total divisions on

circular scale, then least count is 0.001 cm.

Pitch
Total divisions on circular scale

Reason R : Least Count =

In the light of the above statements, choose the most appropriate answer from the options

given below :



Options :

: Both A and R are correct and R is the correct explanation of A.
5 Both A and R are correct and R is NOT the correct explanation of A.

3. A is correct but R is not correct.

4. A is not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Suppose two planets (spherical in shape) of radii R and 2R, but mass M and 9 M respectively

have a centre to centre separation 8 R as shown in the figure. A satellite of mass ‘m’ is
projected from the surface of the planet of mass ‘M" directly towards the centre of the second

planet, The minimum speed ‘v’ required for the satellite to reach the surface of the second

planet is ﬂ% % then the value of ‘2" is .

[Given : The two planets are fixed in their position]

8R
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In a uniform magnetic field, the magnetic needle has a magnetic moment 9.85 x 10 -2 A/ m?

and moment of inertia 5% 106 kg m”. Ifit performs 10 complete oscillations in 5 seconds
then the magnitude of the magnetic field is mT. [Take 72 as 9.83]
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A stone of mass 20 g is projected from a rubber catapult of length 0.1 m and area of cross

section 1070 m? stretched by an amount 0.04 m. The velocity of the projected stone is
m/s.

(Young's modulus of rubber=05x1 0° N/md)
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A transistor 1s connected in common emitter circuit configuration, the collector supply voltage
is 10 V and the voltage drop across a resistor of 1000 € in the collector circuitis 0.6 V. If the
current gain factor (B) is 24, then the base currentis ~ pA. (Round off to the
Nearest Integer)
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A prism of refractive index n, and another prism of refractive index n, are stuck together
(as shown in the figure). n, and n, depend on A, the wavelength of light, according to the

relation

=14 -14
10.8x 10 nd 112=1‘45+1.8><10
s \2

m =12+

The wavelength for which rays incident at any angle on the interface BC pass through without
bending at that interface will be nm.
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A particle of mass 9.1 x 107! ke travels in a medium with a speed of 10° m/s and a photon

of a radiation of linear momentum 1027 kg m/s travels in vacuum. The wavelength of

photon is times the wavelength of the particle.
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A radioactive sample has an average life of 30 ms and is decaying, A capacitor of capacitance
200 pF is first charged and later connected with resistor ‘R'. If the ratio of charge on capacitor
to the activity of radioactive sample is fixed with respect to time then the value of 'R’ should
be (L
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

28 CAAPPYS S iy D808 30 ms H0o ©b Jowhod. 200 uF Losghn
S0 2.8 §0000 Tutth e 560 SoE R AN S0, §080D 4%)
Ayt Dodt BARRPOY S Bairdosd o BV Sibaos® Hom

6098, ‘R denodd 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In Boht's atomic model, the electron is assumed to revolve in a circular orbit of radius 0.5 A

If the speed of electron is 22X 105 m//s, then the current associated with the electron will be

2
X102 mA. [Take 7 as 7]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

& $68rtm $rims® QO 05 Ampgm o @t SEgohoth (FormpotdERatod

R &6 43¢ 22x10° m/s owB oS Ko Gnd) AeyS e Dend

2
X102 mA. =~ ORI

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Consider an electrical circuit containing a two way switch S', Initially S is open and then T,
is connected to Tz- As the current in R=6 () attains a maximum value of steady state level,
T, is disconnected from T, and immediately connected to Ty, Potential drop across r=3 ()
resistor immediately after T,isconnected to Tyis V. (Round off to the Nearest
Integer)

R=60 T

[ 1

2, .T3
S1T,
L

q |0

3()

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



&8 g8 Sodhiin Botomde S ‘S $AAcHA. B 55 800 &5 T, T, %
50, R=00) A6 Gime® By Sodafy Dedt A8 arirs o Ty T, 08
OY €8 S T, 500, r=3 0 AFYine® onlimin & FEAME @

V. (68 80 spopos Soggt R0k

g

I
ST,
L

6VT Dr=3ﬂ

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The amplitude of upper and lower side bands of A.M. wave where a carrier signal with

frequency 11.21 MHz, peak voltage 15 V is amplitude modulated by a 7.7 kHz sine wave of

a b a
5 V amplitude are EV and EV respectively. Then the value of N is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
5V &6 7.7 kHz DR Sdorfiminid@rfod) 11.21 MHz ock 88 $82 15V e flo s

o8t S0 50009 Sre B dabo S0 Bendts 58 @ug) D (upper) Hcky

Bob (lower) Eo 502hen S %v 605 1—bov od % 260 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Chemistry Section A

SectionId: 864351826
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and Yes



Clear Response:

Sub-Section Number : 1
Sub-Section Id : 8643511053
Question Shuffling Allowed : Yes

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The parameters of the unit cell of a substance are a=25, b=3.0, c=40, a=90°, f=120",
y=90°. The crystal system of the substance is :

Options :

1. Triclinic

5 I—Iexagonal

3. Orthorhombic

4. Monoclinic

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A émg?’.g) AP RS deeadeéden, a=25,b=3.0, c=4.0, a=9°, p=120°, y=90". émg@

488 sgts

Options:

, @3

| ey



éaﬂ}{.‘ie"aﬁe}e&

3

. D8 JS&°%

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I:  Rutherford’s gold foil experiment cannot explain the line spectrum of

hydrogen atom,

Statement I1:  Bohr's model of hydrogen atom contradicts Heisenberg's uncertainty

principle.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options:
1 Both statement I and statement II are true.
> Both statement I and statement II are false.

3 Statement I is true but statement II is false.

4. Statement I is false but statement II is true.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[Soth Dot liieaed WG :

% 1: ErEOH0 aomd B8 (Sarfdn EES Sdrmd Ty QBaRR) 8800
G}

e 11: &% P S Shpe 30500 eDHES; Aabiied) H508G00.

@ Qadbew egrborm (Sob m@&?&aeﬁﬁ w08 QBN aaranRd ol

Options:

| DB 150050 D5 11 ed $OEI.
| Dde 1500 956w 1T ed $BFID 9.
| D% 1583056 520 Qe 11 HOFHG .

, D8 1583050 S S0 Dibden 11 5OFH.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For a reaction of order n, the unit of the rate constant is ;
Options :
. ]I'l(}ll —n Ll—n 5_1

, moll Rl Rg

3 ]I'l(}ll —1n L2n S—l



4 mﬂll_n Ln—] S—]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n (ESrossn Ko S8 Bén Qo0 [Hirere :
[63]

Options:

. mﬂll_n L]—n S—]
, moll Rl Rg
3 lel_" L211 5—1
4 ol R g

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II :

List - I List - II
(a) NaOH ()  Acidic
(b) Be(OH), (i) Basic
() Ca(OH), (i) Amphoteric
) B(OH)
(e) Al(OH),

Choose the most appropriate answer from the options given below :
Options :

1.



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

DF-11 & -1 wEIHHEW :

dao-1 eedae-1I
(a) NaOH () e
(b)  Be(OH), (i) &0
() Ca(OH), (i) & WP
(d) B(OH),

(e) AlOH),

Bo& E}EJDS"’E)ESE @808 RO DXPEPR a&&gﬁo& :

Options :

;. (@)-(i), (b)-(), (c)-(i1), (d)-(ii1), (e)-(iii)

, @-(), (b)-(ii), (c)-(iii), (d)-(1), (e)-(iii)



5. (@)-(i), (b)-(ii), (c)-(ii), (d)-(3), (e)-(iii)
5, (@)-(i1), (b)-(i1), (c)-(iii), (d)-(i), (e)-(iii)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statement that is INCORRECT about Ellingham diagram is :

Options :

. provides idea about reduction of metal oxide.

5 provides idea about the reaction rate.

N provides idea about free energy change.

A provides idea about changes in the phases during the reaction.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NOorfo HEro HBOD) KBS NVHBes =VE IO :

Options :

1 She &8)8 EohE8eso HB0D BenHEod.
, zﬁtﬁééé:o 000D Ben)eHob.

; is\;s-agta'é L0y 1080 Senx)E00bh.



B8y e3BrDEYED @vé‘é}@ o8y HB0D BenHE0h.
4,

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The proctuct obtained from the electrolytic oxidation of acidified sulphate solutions, is :

Options:

. HO,S080,H

, HO,5050,H
HO,50050,H
3.

. HSO,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
I 56@3&5 e5erd) o 885 €m0 MOTH ) BSresso :
Options :

. HO,5050,H

, HO,S080,H

HO,500S0,H
3.



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A:  Lithium halides are some what covalent in nature.
Reason R:  Lithium possess high polarisation capability.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

: Both A and R are true and R is the correct explanation of A
, Both Aand R are true but R is NOT the correct explanation of A

3 Ais true but R is false

4. Ais false but R is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



SodS Botd iibeen aREmon. & A IS A DHFE AW Fowly R

R0l :
& A: 060ho $8Een Tob FardolS egeed) S0 totpan.
S8 R: 00chod ©f% (e (polarisation) FG0 ool

@ Qasbee erpdory, Sod mﬁ&%eﬁ* ©&[08 6@6 RDAPEPTRY a:&:ﬁo&:

Options:

| ABa Ren Both HOEHD Hocky A @) K6 It R
_ A0ab R en Both HOGHD R A Gl H0@ e R

, ARXBIDIG =20 R HBGHHE 59k

, ARG =2 =0 R DOTHHE

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The oxidation states of ‘P in H4P207, I—I4P?_O5 and I—I4P206, respectively, are :

Options :

., 6,4and5

, 5 4and3

, 5 3 and 4



7,5 and 6

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i a, ¥4 i
H,P,0,, H,P,0; £0605 H,P,0, 06 P’ Gi¥) el stes dioen SR :
Options :

6,4 5080 5

1

, 5, 4 8050 3
, 5,3 005 4

, 7,5 &85 6

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The type of hybridisation and magnetic property of the complex [MnC16]3', respectively,
are

Options:

. d’sp? and paramagnetic
5 sp>d? and diamagnetic

3 sp°d? and paramagnetic



d’sp? and diamagnetic

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[MnCLJ*~ R0 @) 008585 EEsn $HB% ©0AR0E B) HERIT:

Options :

d%sp® 0805 HoPcHR)0

1

, sp>d? 0800 EdirechI)os
, Sp°d? 500k HoPahIped

. d%sp® 0800 EorethI)0s

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of geometrical isomers found in the metal complexes [PtCl,(NH,),|, [Ni(CO),],
[Ru(H,0),CL] and [CoCl,(NH,),]* respectively, are

Options :
. '1L1, 54

, 20,22

. 21,81



21,85

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[PHCL(NH) ], [NA(CO),], [Ru(H,0),CL] 068 [CoCly(NH,),|* Hoddped® god §8

mﬁe)@?g@ Rogy S8R ;

Options :

44 14

, 270,23
. 21,84

21,82

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which one of the following statements is NOT correct ?

Options:
, The dissolved oxygen concentration below 6 ppm inhibits fish growth

5 Eutrophication indicates that water body is polluted

3 Eutrophication leads to increase in the oxygen level in water



Eutrophication leads to anaerobic conditions

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Bob D5Beed® HB $BTHE 0% ?

Options :

1 86 ey (dissolved oxygen) P 6 ppmoB S35 wud T WKL 6nod
, OSo|e5°28GS, S Penalgl)) Bend)Eod.
, AHre(E°9ERS P ABS® edymS HBETwo DBEINHEHOE

OV AR RIS ©TIYE (anaerobic) HOHHD A0
4,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one among the following chemical tests is used to distinguish monosaccharide from
disaccharide ?

Options:

1. Seliwanoff’s test
, Barfoed test

3 Tollen’s test



Iodine test

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
28360 b rSPE v K090 Bob 3B O Brads SEEH E5aPAPG 7

Options :

1 O B8

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Staggered and eclipsed conformers of ethane are :
Options :
1. Rotamers
Mirror images
2.

3. Enantiomers

A Polymers



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
&S ©3H (Staggered) $HOK (fiees (eclipsed) @IBrHseeD :
Options :

| BPersoSen

. &Byee (D8Qoeren

DY BresnEen
3.

4. POX0Gen

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

)

CH,

@ O, @
CHZ = CH CH3 — CHZ HCEC

A B % D

The correct order of stability of given carbocations is :

Options :

, D>B>C>A

, A>C>B>D



., C>A>D>B

. D>B>A>C

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@

CH,

@ O,
CH2 - CH CH3 = CHZ HCEC
A B (2 D

S EHBLARSe SO LESS (BT :

Options:

, D>B>C>A
, A>C>B>D
, C>A>D>B

L D>B>A>C

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Presence of which reagent will affect the reversibility of the following reaction, and change it
to a irreversible reaction ;

I

Reversible

CH, +1; CH, -1 +Hl

Options :

1 Concentrated HIO3

,, HOCI
, Liquid NH,

dilute HNO,
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 S0 (8od) 186 @) ﬁ[;é@éne%cﬁaé&u gP)S0 Fohked S8 @m@&meﬂoﬁ: e
Argyied ?

Y

Reversible

CH, +1

Options :
. e HIO,

, HOCI

(655 NH,



208 HNO,
4.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which one of the following compounds will give orange precipitate when treated with

2 4-dinitrophenyl hydrazine ?

Options :
O
I\CH3
1.
O
Ki::JcH;!f::H3
2.
OH
OCH,CHjy
3 O
I
{—QH



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

24 BI3E° 936 TS €, (8B B O Sy 8 b Poe (orange) Soib A

o508 ?
Options :
O
I\CHB
1.
o)
K-::)(:H;,g::ﬂ3
2
OH
OCH,CH;
; O
O
(ljl —OH
4 OH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



HyPOy |
120 C (Major I’roduct) Hy0,/ OH Hy0

Consider the above reaction and identify the Product P :

Options:
CH; OH

(e
C

OH

Y
OH
f LOH
4,

(BHa),

>

P
(Major Product)



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H3P04 A (BH;), > P
].2[}0(: Lﬂ}@;ﬁ Lgmﬁ;%o] HzOz/OH, HZO (E}Wﬁ [_ngJ“aié‘sf))

D $56° (Bosraso PR HB0DE -

Options :

CH; OH

-
s
| &OH



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I:  Aniline is less basic than acetamide.

Statement IT :  In aniline, the lone pair of electrons on nitrogen atom is delocalised over

benzene ring due to resonance and hence less available to a proton.
Choose the most appropriate option :
Options :

1 Both statement I and statement II are true.
, Both statement I and statement II are false.
3 Statement I is true but statement II is false.

4. Statement I is false but statement II is true.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[Sob Btk aiiemen e :
A6 12 MoDE 0B BROT 8 Fihmo Fb,

e 11: eROE, IS 2 Ko wobd doges Bodl Sochin @(355%50 dotiko
SoR (Ererdd SR Fhbma.

@é?goé cﬁn@:ﬁ aaf)&svﬁ)ol amﬁoa :



Options :

| D58 T 5805 D58 I eo HOFDD.
| D8 1 £00050 DBell &0 HEIDID 5%,
| Dbes 1 0GB D D56 1 5O@R0 S,

, D 1583030 S 50 den I KOG,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List - I with List - II :

List - I List - II

(Drug) (Class of Drug)
(a) Furacin ()  Antibiotic
(b) Arsphenamine (ii) Tranquilizers
(c) Dimetone (i) Antiseptic
(d) Valium (iv) Synthetic antihistamines
Choose the most appropriate match :

Options :

;. (@)-(ii), (b)-(1), (c)-(v), (d)-(ii)
o @-(), (b)-(ii), (c)-(iv), (d)-(i1)

5, (@)-(), (b)-(1), (0)-(iii), (d)-(iv)



5 (@)-(iii), (b)-(iv), (¢)-(i), (d)-()

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

eDoe- 11 88 -1 230505 :

edae - 1 eedar - 11
(00) (Booth BE85M)
(a) PDODS (i) OSroBaBrdS

) oERNDS

G
e
i
?
On

() BB (il) oSroB3RE
(d) Socho (iv) %08y oSroBLrHdns

©E08 BHBS 2:a°eNDd HBONOE ¢

Options :

;. (@)=(iii), (b)-(1), (c)-(v), (d)-(ii)
,. @-(), (b)-(ii), (c)-(iv), (d)-(i)
5. (@)-(), (b)-(1), (0)-(iii), (d)-(iv)

5, (@)-(iii), (b)-(iv), (¢)-(i), (d)-()

Question Type : MCQ Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
0

H;C N

|
H/\:/kO

(A)

The compound ‘A’ is a complementary base of in DNA strands.
Options :

1. Guanine
> Adenine

N Cymsine

4. Uracil

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0

HyC ‘ %
.
H
(A

‘éﬁ)&@’ém ‘A’ DNA P05 (strands) &° &0t §p6¥ (complementary) oo .
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The density of NaOH solution s 1.2 g cm ™. The molality of this solution is m,

(Round off to the Nearest Integer|

[Use : Atomic masses: Na:230u O0:160u H:1.0u
Density of H,0: 1.0 g em™]

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
NaOH (tpieos) Rrolié 12 gem ™ & (eidese) arerdd

BT0k0s)

[36imen gpopen: Na:230u 0:160u H:10w

H,0 ¥oé : 1L0gem™]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

m. (0 PSS



Correct Marks : 4 Wrong Marks : 0

¥
The difference between bond orders of CO and NO@ is 3 where =

off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CO 00 NOD o wodEsre Sk % ©ONS ¥ =

(a0 G0 JPeosei8 HBBAkeEN)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. (Round



For water at 100°C and 1 bar,

Avap H- Avap U= X1 J mol~L (Round off to the Nearest Integer)
[Use : R=831] mol 'K~ ]]

[Assume volume of HyO(l) is much smaller than volume of H,0(g). Assume H,0(g) can be
treated as an ideal gas|

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

100°C 60 1 bar 55 588
Aygp HoAyy, U= X 10 mol ™!, (eamendh K0 FreposS H6T0buiin)

[R=831] mol ™ K]
[H;0(1) 038P0, Hy0(g) sbidiBimeno S0 rer E8y3) &) oa8bin. HyO(g)  62)

PO EHT O]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

146 g of a biopolymer dissolved in a 100 mL water at 300 K exerted an osmotic pressure of
242%1073 bar,

The molar mass of the biopolymer is x10* g mol ™., (Round off to the Nearest

Integer)
[Use : R=0.083 L bar mol~! K~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
0K 5 146 g0 28 adraPdBH 100 mLaod® Aok 242x10-3baro (Gt

D) BenifEod. adrFODE Gg) Irens (S5 X10* gmol ™1, (apenid

A0 o8 STt
[R=0083 L bar mol~! K]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Type : SA
Correct Marks : 4 Wrong Marks : 0
PCy = PCL+Cl, K =184
3.0 moles of PCls 1s mtroduced ina T L closed reaction vessel at 380 K. The number of moles
of PCl; at equilibriumis  X10~ 3, (Round off to the Nearest Integer)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
PCl; = PCLi+Cl, K =184

3.0R60 P 15503 678 380K 58 Soboreth. Siardd 36 PCl; 3ndo Sogg

i)

_________ X107, (epeidy &0 poposil H0TAiin)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA



Correct Marks : 4 Wrong Marks : 0

The conductivity of a weak acid HA of concentration 0001 mol L™ is 20x10™Sem ™%, If

A{;n(HA):1908431‘112 mol ™!, the ionization constant (K,) of HA is equal to

x107%. (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0.001 mol L~1 mgf& Ko af awded ejo HA edd 20%1075 S em™L o)
An(HA) = 190 am” mol™ o8, HA 05088 dmodin(K ) X106 %

Srtin (o D SFmosts Kdd)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



CO, gas adsorbs on charcoal following Freundlich adsorption isotherm. For a given amount
of charcoal, the mass of CO, adsorbed becomes 64 times when the pressure of CO, is doubled.
The value of n in the Freundlich isotherm equation is x10~2 (Round off to the
Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Frowoldf e68He $Tr Oy S FEY, CO, adini) 086 D wh&ieo Tohid.

D PBE'S 0iienQ8, €O, st B0 Tisihty, eeigatino 3ol €O, 0o
64 Bty . Franodl $Ir0y Sasbning® n dend__ alig

(e 10 Jrepose H0Tciin)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The number of geometrical isomers possible in triamminetrinitrocobalt (If) is X and in

trioxalatochromate (III) is Y. Then the value of X+Y is .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

BeSBIEsd (1) 67 38 Hyme Sogy X Hodky BeBEEDS (I) & 38

%0059)@5@ dogg Y. od X+Y deod .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In gaseous triethyl amine the “~C~-N-C-" bond angle is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

degree.



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Fohirdos’ i) BeS el 6 “-C-N-C-" aoyEmo &he,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An organic compound is subjected to chlorination to get compound A using 5.0 g of chlorine,
When 0.5 g of compound A is reacted with AgNO, [Carius Method], the percentage of
chlorine in compound Ais _ when it forms 03349 g of AgCl. (Round off to the

Nearest Integer)
(Atomic masses of Ag and Cl are 107.87 and 35.5 respectively)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

50 g §65 % eidmnod, o8 S Sdmd FOTS mdod) Sykio A Pord,
05 g Siiin A 300D S58E° AGNO, 8 Sgmilomih. Kiygio A, 03849 go AgCl
D D, Sdgto AS EoS o .

(P K0 posdd H0datuiin)

(e groeen: Ag = 107.87; C1=355)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Mathematics Section A

SectionId : 864351828
Section Number : 5

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Sub-Section Number : 1
Sub-Section Id : 8643511055

Question Shuffling Allowed : Yes

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let Pand Q be two distinct points on a circle which has center at C(2, 3) and which passes

through origin O. If OC is perpendicular to both the line segments CP and CQ, then the
set{P, Q} is equal to :

Options :

(2 +242, 3 +45), (2-242,3 - 5))

, (2 +242,3-45), (2-24Z, 3 + 5)]
, {(-1,5), 6, 1)

. (@0, 0 6)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

srodotih O Koo PR, C2,3) & éo@bé‘o& SO &8 HBop Totd ARR) dothiyes
P 580 Q o Fidin. 0C w36 ot Ter porrer CP 5805y CQ 0% woaore 608,
8 [P, Q) =

Options :

A(2+242,3+45), (2-242,3 - \5)]



, (2 +242,3-45), (2-242, 3 +5)]
; (=1L 9), 6 1)

, 14,0, 0, 6)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o M A A — A A A
leta=1i+j+2kand b =-i +2j +3k. Then the vector product

(:+§)x ((zx ((;—g)x g))x g) is equal to :

Options :
A A A
: N30 -85 +7k

A M M
i -5 +7k
2.

A A A
3 o\34i —57 +3k

M M M
7\341i —=5j + 3k
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A M — M A M
+ ] +2k B b =—i +2] + 3k 00808, o)

GGG D) B -

Options:

M M M
: M —Bf +7k

M M M
5 0 —By 4Tk

A A A
2 I\ —fy 43k

A A A
A 343 =51+ 3k

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

11 11
If the coefficients of ” in (xz - bi] and 17 in (x - biz] b # 0, are equal, then the
. X T

value of b is equal to :

Options :
. — 1



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

11 11
a0, [+ 1| o) Dt o o 6 |1 — | vy Bttt
bx - by -

cﬁné& Hedinm S5rsdma, b o?még e =

Options :
. — 1

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
If the area of the bounded region

X

R =1(x, y) :max{0, logex} = y <27, % =xs2

is, a(log,2) ~! +B(log,2) +7, then the value of (a+p - 2v)? is equal to :

Options:
1.1



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y 1
R=(x,.y):ﬁ@%[oflogex]5y521f55x52 od S0af (Fod Feep

a(log2) ™"+ Bllog,D) +y wovE, (ot B-29)* ) devd =

Options :
1.1

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

12

A=
Let 14

} HA‘1=uI+BA, o, f e R, Tisa2x2 identity matrix, then 4(a—p) is

equal to:

Options :



w
(@]

W | oo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

12
A= L J i08%08. o B eR, 2x2 86158 oS SR8 T A~l=ol+pA BONE,

Yo-p) =
Options:

1. 2

2. 4

w
o]

W | oo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two tangents are drawn from the point P(~1, 1) to the circle - 2- oy+6=0. If
these tangents touch the circle at points A and B, and if D is a point on the circle such that

length of the segments AB and AD are equal, then the area of the triangle ABD is equal to :

Options :
1. 2
2. 4
, (3v2 +2)
. 32 -1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P4 1P- 2=y +6=0 6% 808 P(-1,1) 03 dothi oo Both e Adbalid &
‘én)qﬂaaen DT A D0y B o &8 I, Syrpomeey AB 0y AD o Péden
‘ééﬁzécﬁ)(ﬁ)g ajore éﬁo@ D 2% ok oo, (@dbeso ABD 0¥ ey =

Options:

1. 2

2. 4
5 (3v2 +2)

. 32 -1)



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let C be the set of all complex numbers. Let

S,={z e C| |z—3-2i*=8},

S,={z € C| Re(z)=5} and

Sy={z e C| |z —Z|=8).

Then the number of elements in S; NS, N S, is equal to :

Options :
1. 0

3. 2

4. Infinite

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘éoﬁg ﬁoaa&&:ﬁ)g_o& D& C 98%4.
5

={z e C| |z—3-2i*=8},

S,={z € C| Re(z) =5} soBcs»
S;={ze C| |z —Z| =28} @58&%8.

Y S; NS, NS, 8 Jwroseo Sogy =

Options :
1. 0



4 00

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the plane passing through the point (-1, 0, —2) and perpendicular to each of the planes
2t+y-z=2and x-y-z=3 be ax+by+cz+8=0. Then the value of a+b+c s equal to

Options :
1. 5

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Seven 2+y-2=2 $6ckn 1-y-2=3 08 vonor gk, ey (-1,0 -2) fhowe M

o0 art+by+cz+8=0 o808, 8% atbt G0g) deosd =

Options:
1. 5



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let o, B be two roots of the equation x? + (20)% xt (5)% =0. Then o + B is equal to
Options:

1. 100

>, 10

3 20

4 160

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—f—

|
x> + Q0% x4+ (5)2 =0 &R ¥86mo0 ) Both Sireren o, B0l @b o8 4 8 =

Options :
., 100

> 10



4 160

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: {—Ef EJ — R be defined as

3a

|sinz|

(1+siny) ,-=<x<0
flx)=" B La=1

bl e e E T T
emt—h/mth C0<x< 1

If fis continuous at x=0, then the value of 6a +b2is equal to :
Options :

1 1+e

2. 1_e

Question Type : MCQ Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

f:[—%. EJ - R o368

3a
|sinx]

(1+ [sinx| ,—E-ixf:l]
flx)=1 b ,x=0

; T
emt—’.lx/thx C0<x< 1

B A0S0 08, =05 fOINNS, 6a+b? B Deots :

Options :
1 1+e

4, €1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let

A={(x, y) e RXR | 262+2y2-2x -2y =1},

B={(x, y) e RXR | 4x*+4>—16y+7=0} and

C={(x, y) e RXR | x2+ 1> —dx -2y +5 < 12},

Then the minimum value of |r| such that A u B c Cis equal to:

Options :



B 4 10

, 1++/5

2 4-J10

3 +245

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A={(x, y) e RXR | 222+ 2y>—2x -2y =1},

B={(x, y) e RXR | 4x2+4y>—16y+7 =0} 850
C={(x, y) e RXR | 22 +y2—4x -2y +5 < r?} @808,

AUBcC oty |r| Gng) 85 Jeos :
Options:

B 4 10
1, 2

L 1445

2 4-J10
3. 2



3+25

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the mean and variance of the fu]luwing data :

6, 10, 7,13, a,12, b, 12

37 : 7 .
are 9 and — respectively, then (a—b)= is equal to :

4
Options :

1. 16
2 12
3. 24

4. 32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6,10,7,13,2,12, b, 12 63 tarodsy ftn Ochy Aydoen S6re 9 oty % IO

(a-b)*=
Options :
1. 16



2 12
3 24

4, 32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d
Let y=y(x) be solution of the differential equation log, (TV
dx

2
If y[- 5 lOgQQJ = a log,2, then the value of « is equal to :

Options :
1

. 4

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J =3x + 4y, with 1(0)=0.



loge(%] =344y, y(0)=0 &3 oS8 $wEbmo @), PGS y=y(x) g0l

),
y(- 3 logJJ = alog,2 wand, o @) e =

Options :

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1
If sinf + cost = X then 16(sin(26) + cos(468) + sin(66)) is equal to :

Options:
1. 23

2. =23
3. 27

4. —27



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. 1
sind + cosd = ©OoNS, 16(sin(26) + cos(40) + sin(66)) =

Options :
1. 23

2. =23
3, 27

4. —27

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The probability that a randomly selected 2-digit number belongs to the set {ne N : (2"~2) is

a multiple of 3} is equal to

Options :
1

1. 2

N
LI | =

WM



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dirsomr diE) o8 2 ©oso Koy @b 908 neN: (-2) &b 3 %) &8

fhdeso) & So&écﬁ(ﬁJéocﬁaéa Rograss :
Options:

1

1. 2

N
WM G | =

O | =

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Aray of light through (2, 1) is reflected ata point P on the y-axis and then passes through the

1
point (5, 3). If this reflected ray is the directrix of an ellipse with eccentricity 3 and the

distance of the nearer focus from this directrix is & then the equation of the other directrix

can be ;
Options :
. 2x—7y—39=0 or 2x—-7y—7=0

11:c+?y+8=[] or 11x+?y—15=0

2.

3 2x—?y+29=0 or 2x—?y—?=0
11x—?’y—8=0 or 11x+?y+15=0

4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2,1) fhome 8 308 Stwo yofow doths) P & sdoridio dob doth (3, 3) fow

1
P08, aer Sordo 306K 8o 6 3 88058 fo 8.8 L%géaéo @8 &8 A Ty

oo, J0hEted cégdm 62601 ) $08 ohsted Erbo % oong, 5HF sy
05080
Options:

2x—7y—39=0 S 2x—7y—7=0
1.



, Nx+7y+8=0 8o 11x+7y—15=0
, 20=7y+29=0 8o 2x~7y~7=0

, Nx—=7y—8=08c® 11x+7y+15=0

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The compound statement (P v Q) A (~P) = Q is equivalent to :

Options :

(=9

ZOPnNQ

, "P=>Q&Pa~Q

2 PVQ

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hoding [HSS80 (PvQ) A (~P) = Qi B8 g0 OJP

Options :

, (F=Q



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let f: R - R be a function such that f(2)=4 and f'(2)=1. Then, the value of

20N 4f(x
lim *f(2) ~ 4f(x) is equal to:
12 xr=-2

Options :
1. 4

2. 8
5. 12

4. 16

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fiR - Red ({babo f2) =400 £(2)=1 edtposiSiod. o i /(2) = 4503)

x=2 =3

d:baé@ 0e8) =

Options :



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

.1 & (2j—1)+8n
lim —
The value of Im Z (2j—1) +4n

is equal to :

Options :

5 + log. [%J

Question Type : MCQ Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Options :

3
5+ loge | =
oy

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The value of the definite integral

ar

J dx
(1 + e¥°5%) (sin*x + cos*x)

4

is equal to :

Options :

. 242



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 dx

_J.%(l + EICDSI) (5il14x g CDS4.I') @3 K}%Jé 5@%@&) @Dé& g\)@é i

Options :




Mathematics Section B

SectionId: 864351829
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511056
Question Shuffling Allowed : Yes

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let a plane P pass through the pot (3, 7, —7) and contain the line,

-2 _y-3 z+2
-3 2 1

. If distance of the plane P from the origin is d, then d* is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

x-2_y-3_2+2
= 2 1

560y S $9R afvod, Doty (3,7, -7) Ko A a8 dvo

P eof0l, Ko otk Sod P & drdo d eowd, d? = .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2 2

sin“x —2 4+ cos“x Ccos 2x
Let f(x)= (2 + sin’x cos” x cos2x |, x € [0, m].
sinzx mszx 1+ cos2x

Then the maximum value of f(x) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

si112x -2 + c:}szx cos2x
f(x)=|[2 + sinZx cos? x cos2x |, x € [0, 7]
5i112x cnszx 1 + cos2x

05808, DS f(v) BoE) KOR DD

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let F: [3, 5] - R be a twice differentiable function on (3, 5) such that

Fr)=¢™ j;(3t2 42+ 4F(f)t.

_ neP - 24

If Fi4 :

then a+p is equal to :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Fr)=e™ [ (3t +2t+ 4F(t)dt et F:[3,5] - R &b Bt 0%y eidododod (ko
3 ES 3} 3]

B )
B,5) ossed. F(4) = (SB 7

@cmé, atf=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

~ AA A = - A A e e
Let a=i+j+k band ¢ =j-k be three vectors such that 3 x b = ¢ and

5 - - - -
a * b =1. Ifthe length of projection vector of the vector b on the vector a X ¢ is/, then

the value of 3/ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

5 9 9 A

% = A A
axb=c$H0& a-b=1odgya=i+j+k bdod

- = -
ADEuESR. a x ¢ 308 68 b T8 Ao | s 3 = .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let the domain of the function

f(x) =logy (1085(1083 (181: -2 - 77))) be (a, b).

Then the value of the integral

_Lb sin® x P
(sin’x + sin®(a + b — x))

is equal to

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

flx) =1logy 1085(1083(181' g 77))) 03 [{babo Giod) (5340 (a,b) widETol. widtd

f Sin x o<
| (sin3x +sin3(a Lol * g3 $5pged cﬁné& HONIE .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
Question Type : SA
Correct Marks : 4 Wrong Marks : 0

, T
If logs2, log(2°-5), logs (21 : E] are in an arithmetic progression, then the value of x is

equal to

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

log:2, log,(2*-3) Iog;.;[? 2 g]m wodE56° dold x @ng) devd = .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For real numbers « and B, consider the following system of linear equations :
¥+y-2=2, x+2y+az=1, 2x-y+z=p.

If the system has infinite solutions, then «+p is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0, B TR Hogees R Siskemo éegé:g 1+y-z=2, 1+ y+oz=1, A-y+z=p D

0 S, & G50 ooddiin) P08, atp= .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
LetS={1,2,3,4,5, 6, 7). Then the number of possible functions f: S - S such that

f{mn) =f(m)f(n) for every m,n e Sand m-ne Sis equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



S={1,2,3,4,5,6,7) e8'8. flmn)=f(m)f(n), mneS $HOcko m - neS oty

f:555 ([$hotre Nogy = .
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

It y=y(x), ]/E{Uf %] is the solution of the differential equation

sec y% = sin(x + ) - sin(x = y) = 0, with y(0) =0, then Sy’(g] is equal to .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



sec y% - sinfy +y) - sinfx - ) = 0, (0) =0 @3 @80 8o Q) 2R y=y(v)
Y

e {O, %] B0V, Sy’(%] g P

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let f: [0, 3] - Rbe defined by

fi=minfe-[1], 1+ -2}
where [x] is the greatest integer less than or equal fo x.

Let P denote the set containing all x € [0, 3] where fis discontinuous, and Q denote the set
containing all x € (0, 3) where fis not differentiable. Then the sum of number of elements in

P and Q is equal to ;

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

) =806 fr=[x], 1+x]-2) 3 idodats f:[0,3] o R &8 (abohinbSol. a8 [+
630 1% T K0i {reposR) inikod. [0,3] 6 0 Boriige 84 f ADFHH0S o
Dot 5383 P iieddod 0ah (0,3)6° & Hothe 2 f g38odado ©8) b8
Q ‘éﬁ@@om%ﬁo&. g% P H8osy Q 0% o droso Jogg =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



